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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
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Answer the following.
1 Differentiate orbit and orbital
2 Explain the factors affecting the degree of lonization.
Answer the following.
1 What is corrosion? Explain the mechanism of atmospheric
corrosion.
2 Explain demineralization method for making soft water with
figure. Write equations evolved in it.
Answer the following.
1  Define : (I) Flash point (II) Neutralization number
2 Define: oil point. Write the main constituents of it.
Fill in the blanks.
1 Molecular weight of Platinum (5Pt
2 pH of pure water is
3 A transparent homogeneous liquid made by dissolving resins
into drying oil is known as

191 _
)_

4 In pitting corrosion area of cathode is than that of
anode.

5 100 ppm = degree clerk.

6 For measurement of Pensky Marten apparatus.

7 is used in vulcanization of Rubber.

Answer the following
1 Explain the problems occur due to hard water used in boiler.
Give its remedies.
2 Write short note on Redwood viscometer.
3 Explain structures of bakelite and Nylon 6,6. Write their
usage.
OR
Answer the following
1 Explain the structure of molecular solids. Draw sketches of
sulphur and phosphorus molecules.
2 Write short notes on: Electroplating and Electrotyping.
3 Explain the construction of Electrochemical cell.
Write Auf Bau principle. Give electronic configuration of
(1) 1(,S (2) 17CO (3) 26Fe
What is buffer solution? Give its types and Explain any three
applications of buffer solutions.
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(c) A sample of hard water gave on analysis the following results. 05
1 Ca(HCOs3),=8.1mg/L
2 Mg(HCOs3),=7.3mg/L
3 CaSO4=13.6mg/L
4 MgCl,=9.5mg/L
Atomic weight:
H=1,C=12,0=16, Mg=24, Ca=40, S=32,Cl=35.5

OR
Q.3 (@) What is half cell. Explain construction and working of standard 04
hydrogen half cell.
efine: ubrication ubricant. Explain fluid film
(b) Defi (1)  Lubricati (2) Lubri Explain fluid film 05
lubrication.
c at is polymerization? Give its types. Explain any one of them.
(c) What is polymerization? Give its types. Explain any one of th 05
Q.4
(@) Give meaning of 1Na®, 1;C1%, ;sMn™, o, U?? 04
(b) Define: pH. Calculate the pH of 0.002 M H,SOy4 solution. 05
[log 4 = 0.6021]
(c) Explain factors that affect the rate of corrosion. 05
OR
Q.4 (a) Explain permutit method. 04
(b)  Write about selection of lubricants for 05

1 Cutting tools
2 Steam turbine
(c)  Write difference between thermoplastics and thermo setting plastic. 05
Q.5 (@) What is insulating material? Give their ideal characteristics. Write 05
about properties of Glass-Wool and thermo Cole.

(b)  What are the additives? Write their purpose. 05
(c) Explain chlorination of water by bleaching powder. 04
OR
Q.5 (@) Explain Galvanizing and Tinning of metals. 04
(b) Write difference between metallic conductors and solutions of 05
electrolytes.

(c) Explain formation of Hydrogen bond with example. Write its types 05
and significance.
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